Ei30F4A1BHERE BLTEEEXRBIIRAORVHEH

E30FE1AIBRE BETEREASIIRAORUHT

Maig B i A0 B | HER i 2, B A0 = AO A0 E HEH

J\ g ithis 6,573 7,072 13,645 5,408 2 |RABEAN| =2 |RAEAN| 2& [(RAEAl £EF& |KRIAEA
A F gk 3,263 3,420 6,683 2,181 J\ i i igg 6,578 62 6,997 79 13,575 141 5,434 103
B B ik 5,526 5,747 11,273 3,955 K sthisk 3,244 22 3,394 15 6,638 37 2,193 37
= B i 1,524 1,604 3,128 1,122 B & ihig 5,486 59 5716 72 11,202 131 3,962 123
Eifihis 2,018 2,094 4,112 1,367 = i 1,507 8 1,588 17 3,095 25 1,100 24
B = Hhigk 833 872 1,705 567 55 3 3t igk 1,992 14 2,074 31 4,066 45 1,362 34
B Mo 839 915 1,754 702 AR = it 35 816 0 852 5 1,668 5 560 5
MET2HE 20,576 21,724 42,300 15,302 B M 833 14 906 43 1,739 57 710 54
B EMEE 20,456 179 21,527 262 41,983 441 15,321 380
R (A ) A 23 A7 A 31 4 A 54 A3 A5 A4

XEREXRBIRAODGZHEAEREZSD,

B i A0 i HEH
M SHELA () 183 249 432 374 EpE30FEITAIHRE BETEEEXBEAORVHEFE(BHERADH)

M ig % Bt T | A0 5 | #HEHK

J\ i ik 6,516 6,918 13,434 5,331
A F0 3 ig 3,222 3,379 6,601 2,156
B & sk 5427 5,644 11,071 3,839

= S gk 1,499 1,571 3,070 1,076
Eik: b= 1,978 2,043 4,021 1,328
BA = i ik 816 847 1,663 555
B Hhig 819 863 1,682 656
MBETEHE 20277 | 21,265 41542 | 14,941
B (ATA ) A16]  A35 A 51 A 1




